ON RATIONAL FUNCTIONS WITH GOLDEN RATIO AS FIXED POINT

Edgar Gilbuena Amaca & Hossein Shahmohamad School of Mathematical Sciences Rochester Institute of Technology, Rochester, NY 14623 e-mail: hxssma@rit.edu

KEYWORDS: Recurrence, Golden ratio, Fibonacci

September 7, 2010

Abstract

The existence of an equivalence subset of rational functions with Fibonacci numbers as coefficients and the Golden Ratio as fixed point is proven. The proof is based on two theorems establishing basic relationships underlying the Fibonacci Sequence, Pascal's Triangle and the Golden Ratio.

1 Introduction

Echevarria[3, 4] showed that the Golden Ratio induces two alternative mappings of the set of paired Fibonacci numbers into the set of binomial coefficients. More material on this topic can be found in [2,6,8,9]. In the first mapping, the variant of the Fibonacci Sequence without the initial zero was used. In the second mapping, the zero was retained. It is known that Pascal's Triangle and Fibonacci Sequence are related mathematically[1]. It is also known that the Golden Ratio and the Fibonacci Sequence are mathematically related in a number of very interesting ways[7]. Ghyka[5] explains that the ancient Greeks, who discovered the Golden Ratio, were familiar with the Fibonacci Sequence as one ramification of numerical operations on the Golden Ratio. No mention is made, in the article mentioned[3, 4], regarding possible relationships between the two alternative mappings. The ratio of a Fibonacci number to the number that precedes it in the sequence approaches the Golden Ratio at the limit of the sequence[7]. It is also a mathematical fact that any Fibonacci number can be represented by a

general formula, known as Binet's Formula that incorporates the Golden Ratio[1]. Letting F(n) represent the n^{th} number of the Fibonacci sequence,

$$F(n) = \frac{1}{\sqrt{5}} \left[\left(\frac{1+\sqrt{5}}{2} \right)^n - \left(\frac{1-\sqrt{5}}{2} \right)^n \right]$$

The following theorems, each establishing an alternative mapping of paired Fibonacci numbers into the binomial coefficients, and each mapping being induced by the Golden Ratio, are due to Echevarria[3, 4].

Theorem 1.1 Let F(n) be the Fibonacci Sequence defined by F(0) = 0, F(1) = 1 and $F(n) = F(n-1) + F(n-2) \ \forall n \geq 2$ and $x = \varphi = \frac{1+\sqrt{5}}{2}$. Then $\xi : \{F(n) \cdot F(n+1)\} \to n^{th}$ row of Pascal's Triangle such that as $x = \varphi$, $F(n) + F(n+1)x = (x+1)^n$ is one-to-one.

Theorem 1.2 Let F(n) be the Fibonacci Sequence defined by F(0) = 0, F(1) = 1 and $F(n) = F(n-1) + F(n-2) \ \forall n \geq 2$ and $x = \varphi = \frac{1+\sqrt{5}}{2}$. Then $\xi : \{F(n) \cdot F(n+1)\} \to n^{th}$ row of Pascal's Triangle such that as $x = \varphi$, $F(n) + F(n+1)x = x(x+1)^n$ is one-to-one and onto.

2 An Equivalence Subset of Rational Functions with the Golden Ratio as Fixed Point

Consider a subset of rational functions in the variable x of the form $\frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}$, where x is any real number. The following theorem shows that, for specific values of F(n), F(n+1), and F(n+2) (in fact, infinite in number), this subset of rational functions forms an infinite equivalence subset, equivalence being defined by a fixed point relationship with the Golden Ratio.

Theorem 2.1 Let F(n) be the Fibonacci Sequence defined by F(0) = 0, F(1) = 1 and $F(n) = F(n-1) + F(n-2) \ \forall n \geq 2$ and $x = \varphi = \frac{1+\sqrt{5}}{2}$. Then $x = \frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}$, $x = \varphi$ is an equivalence subset of rational function with Golden Ratio as fixed point. Also $\lim_{n\to\infty} \frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x} = \varphi$.

Proof: From Theorems 1 and 2, the two systems of equations given below hold when $x = \varphi$.

$$1 + 1x = x + 1, 2 + 3x = (x + 1)^{2}, \dots, F(n) + F(n + 1)x = (x + 1)^{n}$$

$$0 + 1x = x(1), 1 + 2x = x(x + 1), \dots, F(n + 1) + F(n + 2)x = x(x + 1)^{n}$$

Since F(n+2) = F(n) + F(n+1), dividing the n^{th} equation of the second system by the n^{th} equation of the first system, we obtain:

$$\frac{x(x+1)^n}{(x+1)^n} = \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} , \qquad x = \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x}$$

There remains to show that $x = \varphi$. Dividing the $(n+1)^{th}$ of the first set of equalities by the n^{th} of the second set of equalities in this proof yields:

$$\frac{(x+1)^{n+1}}{x(x+1)^n} = \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} = \frac{x+1}{x}$$

However,

$$x = \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} = \frac{x+1}{x}$$

We arrive at $x^2-x-1=0 \to x=\frac{1\pm\sqrt{5}}{2}$. In particular $x=\frac{1+\sqrt{5}}{2}=\varphi$. This concludes the proof of the first part. To prove the other remark, as $n\to\infty$, using the Binet's Formula for F(n):

$$F(n) = \frac{x^n - y^n}{x - y}$$
 where $x = \frac{1 + \sqrt{5}}{2}$, $y = \frac{1 - \sqrt{5}}{2} \to x + y = 1$ and $x - y = \sqrt{5}$.

$$\lim_{n \to \infty} \frac{F(n+1)}{F(n)} = \lim_{n \to \infty} \frac{x^{n+1} - y^{n+1}}{x^n - y^n} = \lim_{n \to \infty} \frac{x^{n+1}}{x^n} = x.$$

Since |y| < 1, as $n \to \infty$ then $y^n \to 0$. Hence,

$$\lim_{n \to \infty} \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} = \lim_{n \to \infty} \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} \cdot \frac{F(n+1)}{F(n+1)}$$

$$\to_{n \to \infty}^{lim} \frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} \cdot \frac{\frac{1}{F(n+1)}}{\frac{1}{F(n+1)}} =_{n \to \infty}^{lim} \frac{1 + \frac{F(n+2)x}{F(n+1)}}{\frac{F(n)}{F(n+1)} + x}$$

$$= \frac{1+x \cdot x}{\frac{1}{x}+x} = \frac{1+x^2}{\frac{1+x^2}{x}} = 1+x^2 \cdot \frac{x}{1+x^2} = x = \frac{1+\sqrt{5}}{2} = \varphi.$$

This concludes the proof.

Corollary 2.2 The smallest positive Fibonacci triples satisfying $\varphi = \frac{F(n+1)+F(n+2)\varphi}{F(n)+F(n+1)\varphi}$ is (1,1,2).

Proof: This is immediate from Theorem 2.1. By inspection, the consecutive Fibonacci triples forming the equivalence subset of rational functions are: (1,1,2), (2,3,5), (5,8,13), ..., (F(n),F(n+1),F(n+2)) which yields F(n)=1,F(n+1)=1,F(n+2)=2 as the smallest positive Fibonacci triples.

3 ALGEBRAIC PROPERTIES AND STRUC-TURES

It is interesting to note that the equivalence subset of rational functions is related to the Golden Ratio in more ways than can be determined by the use of algebraic methods. At least two such properties, namely, the absence of extreme values and convergence to the Golden Ratio, can be identified. We show that this equivalence subset of rational functions possesses an algebraic structure, namely, the formation of a commutative semigroup of rational functions under the operation of composition of functions.

3.1 Extreme Values

To verify if the equivalence subset of rational functions has extreme values, one sets:

$$\frac{d}{dx} \left(\frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x} \right) = 0$$

$$\frac{F(n) + F(n+1)x(F(n+2)) - (F(n+1) + F(n+2)x(F(n+1))}{(F(n) + F(n+1)x)^2} = 0$$

$$\frac{F(n) \cdot F(n+2) - (F(n+1))^2}{(F(n) + F(n+1)x)^2} = 0$$

If $F(n) \cdot F(n+2) - (F(n+1))^2 \neq 0$, then the equation will not hold for finite values of n. Recall that it is always true that $F(n) \cdot F(n+2) - (F(n+1))^2 = \pm 1$. Therefore, the equivalence subset of rational functions has no extreme values for finite values of F(n), F(n+1), and F(n+2).

3.2 Convergence of Real-Valued Rational Functions

Since each rational function of the equivalence class is uniquely determined by the values of F(n), F(n+1), and F(n+2) corresponding to it, one can construct a sequence of rational functions in terms of increasing values for F(n), F(n+1), and F(n+2). The sequence of rational functions converges to the Golden Ratio as the values of the Fibonacci numbers in the function tend to infinity.

3.3 A Commutative Semigroup of Rational Functions

We show that the equivalence subset of rational functions forms a commutative semigroup under the operation of composition of functions. In addition, the infinite number of elements is generated by a single element

under the same operation, converging to a limit. The general form of the rational function is $\frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}$ where F(n), F(n+1), and F(n+2) are consecutive Fibonacci numbers and x represents any real number other than $-\frac{F(n)}{F(n+1)}$. It will suffice to show that this subset of rational functions is closed, associative and commutative under composition of functions, and that it is contained a cyclic subgroup that converges to a limit.

3.4 Closure, Associativity and Commutativity

Associativity follows immediately from associativity of composition of real valued functions. We show closure and commutativity simultaneously. Given functions $\frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}$ and $\frac{F(m+1)+F(m+2)x}{F(m)+F(m+1)x}$, composition following the order of appearance of the functions gives:

$$\frac{F(n+1) + F(n+2) \cdot \left(\frac{F(m+1) + F(m+2)x}{F(m) + F(m+1)x}\right)}{F(n) + F(n+1) \cdot \left(\frac{F(m+1) + F(m+2)x}{F(m) + F(m+1)x}\right)}$$

$$= \frac{F(n+1) \cdot (F(m) + F(m+1)x) + F(n+2) \cdot (F(m+1) + F(m+2)x)}{F(n) \cdot (F(m) + F(m+1)x) + F(n+1) \cdot (F(m+1) + F(m+2)x)}$$

$$= \frac{F(n+1)^* + F(n+2)^*x}{F(n)^* + F(n+1)^*x}$$

where $F(n)^* = F(n) \cdot F(m) + F(n+1) \cdot F(m+1)$; $F(n+1)^* = F(n) \cdot F(m+1) + F(n+1) \cdot F(m) + F(n+1) \cdot F(m+1) = F(n+1) \cdot F(m) + F(n+2) \cdot F(m+1)$; $F(n+2)^* = F(n)^* + F(n+1)^*$. The fact that $F(n)^*$ and $F(n+1)^*$ are consecutive Fibonacci numbers follows from the number theoretic result that F(n+m) = F(n)F(m+1) + F(m)F(n-1). Reversing the order of composition gives:

$$\frac{F(m+1) + F(m+2) \cdot \left(\frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x}\right)}{F(m) + F(m+1) \cdot \left(\frac{F(n+1) + F(n+2)x}{F(n) + F(n+1)x}\right)}$$

$$= \frac{F(m+1) \cdot \left(F(n) + F(n+1)x\right) + F(m+2) \cdot \left(F(n+1) + F(n+2)x\right)}{F(m) \cdot \left(F(n) + F(n+1)x\right) + F(m+1) \cdot \left(F(n+1) + F(n+2)x\right)}$$

$$= \frac{F(n+1)^* + F(n+2)^*x}{F(n)^* + F(n+1)^*x}$$

The equivalence subset of rational functions is, therefore, closed, associative and commutative under the composition of functions, which makes it a commutative semigroup under the operation.

3.5 Absence of an Identity Element

Letting $g(x) = \frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}$, an identity element under composition of functions should yield fg(x) = gf(x) = g(x). However, it is known that this fixed point relationship does not generally hold, but only when

$$\frac{F(n+1)+F(n+2)x}{F(n)+F(n+1)x}=\varphi.$$

3.6 The Generator

The element $\frac{(1+x)}{x}$ where F(n), F(n+1), and F(n+2) are the first three Fibonacci numbers 0, 1 and 1, generates all the others under composition of functions. The second element (corresponding to the second, third and fourth Fibonacci numbers) is $\frac{(1+2x)}{(1+x)}$ which is $\frac{1+\frac{(1+x)}{x}}{\frac{(1+x)}{x}}$. Given any arbitrary $\frac{(F(n+1)+F(n+2)x)}{F(n)+F(n+1)x}$, replacing x with $\frac{(1+x)}{x}$ yields

$$\frac{(F(n+2) + (F(n+1) + F(n+2))x)}{F(n+1) + F(n+2)x}$$

which is the element immediately following the arbitrary element. Thus, $\frac{(1+x)}{x}$ generates all the rational functions in the semigroup under composition of functions.

References

- [1] Brualdi, Richard A. Introductory Combinatorics. New York: North-Holland, 1977.
- [2] Daintith, John and R. D. Nelson. The Penguin Dictionary of Mathematics. London: Penguin Books Ltd., 1989.
- [3] Echevarria, Ramon M. A Theorem that Relates the Fibonacci Sequence to the Pascals Triangle by Means of the Golden Ratio. USC Graduate Journal, vol. XIV No. 2 (February March, 1998), 93-94.
- [4] Echevarria, Ramon M. Two Theorems Establishing a Basic Connection Underlying the Golden Ratio, the Pascals Triangle and the Fibonacci Sequence. The Philippine Scientist, Vol. 34 (1997), 89-94.
- [5] Ghyka, Matila. The Geometry of Art and Life. New York: Dover Publications, Inc., 1977.
- [6] Johnsonbaugh, Richard. Discrete Mathematics. New York: Macmillan Publishing Company, 1990.

- [7] Scheid, Francis. Numerical Analysis. Singapore: McGraw-Hill, Inc., 1983.
- [8] Stewart, Ian. Nature's Numbers. London: Weidenfeld and Nicolson, 1995.
- [9] Stewart, Ian. The Problems of Mathematics. London: Oxford University Press, 1992.